W25 (F0 28FEEAREA)

‘go—-zZl—=+¢

Lg:

SEMRch () BEETgE -

(R) HEEAE

b B
ik # A 5]
Rafmshakat &
=, ) ~ ‘&:
BEMES RIS Yok ISR n M) w % o B R
HaRIH
YW, BATFGHICIRE S b —F QIESEE 259588 B R 15%)
H 3] JARI0TOS & A BRI DR SME L 2 BITBTFT 5,
(bHYM FEEEMRICT2L0)
mHe RU OIER
F B B O b ®&® &
) B ®
H __H EEEIEE-EINE N N LT IR EANE N
E3 B WA — EREEHR A Z =
A | TFa6HZCa - BARME ke| 29000 27100
EEEICE W = ANIHE| 10490 10435 |-
Jiil & KB - B (TERIRIE| 8480 8515 |=101 i
W 0 % K| T -~ B R EPRE] 8485 8520 |=I0t
R & O M m - = k g [[ETEERE] 6485 520 (=101
R % B & = = - gt 15940 35080 (<781
BHER L = = RAZE | & 43 XA |\=f =8
& = N AT PR gHEe | & 49 X 41 | o= £ F £ &
(11.600) ! (11.900) U - R
(i m| 2,490 = |Zitm |
i -5 m| 2260 3790 |=3.8m ™ {IRZZ. 5 -
£ 91041300 5% | BRE
W m| +1.300 - S TIRZZ.5 - Mo % m
=9, 510 B |
GiLiEE] = & T 11R22.5 €
& & [EmG | T80 = e T
mfEFE@ | 1850 = TR | A0 - - |
Etkin I, 850 = &N Emm|_ 818 85. 2 = [00% OB %
EHXL|EEM 12. 000 12. 300 WHEIE| &R Er|  84.0 85.2 = [00%
#HEOAE m 7.470 2. 330 %|HiEm| 849 85.2 = 10D%
Ro-tik ?m?m 77 A B N PP
B [N 1830 290 [ T AN o i (% B E K E
B B |[EPE@E 1850 2290 m| - - -
k g [HFEEE| 1890 7290 fiad 7y F m| L.610 2.550
B 6940 8890 T /Nl E & m - % 10.0 |=12
fiE h i 4 % i i @ Kk oE
EE: -
" B A ke 60kw/h 3% B Al m e -
% B N | e tanea REREERE —
133 A : =]
. [&] - [ & 3% B = ® o X @R
’*ﬁ“raﬁ B > HREEERE =
L. fEOMERIHRIE, BALAEVLOR—, ARLELORXERATL L.
2. XEME W Y PDG-EXDS2DBRY b & & LB OMBEEERT. R 009712 1 ZEOEBWERIZDOWTH. MRTRATY

L

L

v

gglg—8l2—260:



